

CALCULUS REVIEW

DIFFERENTIATION

RULE	Form	EXAMPLE
SUM	$\frac{d}{dx}(a+b) = \frac{da}{dx} + \frac{db}{dx}$	$\frac{d}{dx}(x^2 + x^3) = 2x + 3x^2$
DIFFERENCE	$\frac{d}{dx}(a-b) = \frac{da}{dx} - \frac{db}{dx}$	$\frac{d}{dx}(x^2 - x^3) = 2x - 3x^2$
PRODUCT	$\frac{d}{dx}(ab) = a \cdot \frac{db}{dx} + \frac{da}{dx} \cdot b$	$\frac{d}{dx}(x^2 x^3) = (2x)(x^3) + (x^2)(3x^2)$
QUOTIENT	$\frac{d}{dx}\left(\frac{a}{b}\right) = \frac{\left[\frac{da}{dx} \cdot b - a \cdot \frac{db}{dx}\right]}{b^2}$	$\frac{d}{dx}\left(\frac{x^3}{x^2}\right) = \frac{[3x^2 \cdot x^2 - x^3 \cdot 2x]}{(x^2)^2}$
POWER	$\frac{d}{dx}(a^n) = n \cdot a^{(n-1)}$	$\frac{d}{dx}(x^7) = 7x^6$
EXPONENTIAL	$\frac{d}{dx}(a^x) = a^x \ln(a)$	$\frac{d}{dx}(3^x) = 3^x \ln(3)$
... THEREFORE	$\frac{d}{dx}(e^x) = e^x$	
LOGARITHM	$\frac{d}{dx}(\log_n a) = \left(\frac{1}{a} \ln(n)\right)^{-1}$	
... THEREFORE	$\frac{d}{dx}(\ln a) = \frac{1}{a}$	
RECIPROCAL	$\frac{d}{dx}\left(\frac{1}{a}\right) = -\frac{\frac{da}{dx}}{a^2}$	$\frac{d}{dx}(\sec x) = \frac{d}{dx}\left(\frac{1}{\cos x}\right) = \frac{-(-\sin x)}{\cos^2 x} = (\sec x)(\tan x)$
CHAIN RULE	$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$	$\frac{d}{dx}(x^2)^3 = 3(x^2)^2 \cdot 2x$
... ALTERNATELY	$\frac{d}{dx} f(g(x)) = f'(g(x)) \cdot g'(x)$	
TRIGONOMETRY	$\frac{d}{dx} \sin(x) = \cos(x) ; \frac{d}{dx} \cos(x) = -\sin(x) ; \frac{d}{dx} \tan(x) = \sec^2(x)$	

TRIGONOMETRY

$$\frac{d}{dx} \sin(x) = \cos(x) ; \quad \frac{d}{dx} \cos(x) = -\sin(x) ; \quad \frac{d}{dx} \tan(x) = \sec^2(x)$$